



اسم: \_\_\_\_\_

التاريخ: \_\_\_\_\_ النتيجة \_\_\_\_\_

$$(-3)^0 - 7 =$$

$$(-8)^2 - (-10) =$$

$$(-4)^{(-2)} - 8 =$$

$$(-1)^{(-2)} + (-7) =$$

$$5^{(-1)} + 1 =$$

$$3 + (-6) =$$

$$(-1)^{(-1)} - (-9) =$$

$$(-8) - (-1) =$$

$$4^2 - (-3) =$$

$$3^{(-2)} + (-7) =$$

$$2^2 - (-9) =$$

$$3^{(-1)} + 6 =$$

$$(-8)^2 + (-1) =$$

$$(-3)^2 - 9 =$$

$$4^{(-2)} + 4 =$$

$$(-9)^2 + (-9) =$$

$$2^{(-1)} - 5 =$$

$$(-8)^{(-1)} + 4 =$$

$$(-9)^2 + (-7) =$$

$$(-6)^{(-2)} - (-8) =$$



اسم: \_\_\_\_\_

تاريخ: \_\_\_\_\_ النتيجة \_\_\_\_\_

$$(-3)^0 - 7 = (-6)$$

$$(-8)^2 - (-10) = 74$$

$$(-4)^{(-2)} - 8 = \left(-\frac{127}{16}\right) = \left(-7\frac{15}{16}\right)$$

$$(-1)^{(-2)} + (-7) = (-6)$$

$$5^{(-1)} + 1 = \frac{6}{5} = 1\frac{1}{5}$$

$$3 + (-6) = (-3)$$

$$(-1)^{(-1)} - (-9) = 8$$

$$(-8) - (-1) = (-7)$$

$$4^2 - (-3) = 19$$

$$3^{(-2)} + (-7) = \left(-\frac{62}{9}\right) = \left(-6\frac{8}{9}\right)$$

$$2^2 - (-9) = 13$$

$$3^{(-1)} + 6 = \frac{19}{3} = 6\frac{1}{3}$$

$$(-8)^2 + (-1) = 63$$

$$(-3)^2 - 9 = 0$$

$$4^{(-2)} + 4 = \frac{65}{16} = 4\frac{1}{16}$$

$$(-9)^2 + (-9) = 72$$

$$2^{(-1)} - 5 = \left(-\frac{9}{2}\right) = \left(-4\frac{1}{2}\right)$$

$$(-8)^{(-1)} + 4 = \frac{31}{8} = 3\frac{7}{8}$$

$$(-9)^2 + (-7) = 74$$

$$(-6)^{(-2)} - (-8) = \frac{289}{36} = 8\frac{1}{36}$$